Premium
Free Standing
Vinyl Pergola Kits
& Components

FENCE CO.
7 N0

0035522




8' x 12’ Vinyl Pergola Kit

8' x 12' Pergola Kit consists of:

*8" x 90" Tapered Pergola Columns . . ... ... e 4
*8" Rd. Tapered Column Trim Sets . . . ... ... . e e e 4
*8" Rd. Colummn Beam MoUnEASSEMDIES s x : s v suin von 3 wass & was & son & ve coms oo & o 5 4
"8 R Taperat: Colimin MOURE: ...« sun 5 w5 o & st o600 swm 5 5606 § G600 & WE S60e.8 we 3 K% 2 4
2" X B" X 8 HOloW Rafters . . . .. .. 10
2" x 6" x 8' Alum. Rafter SUPPOMS . . . . . ..o 10
2 XGT PEIGolad BNAS : s ox » pow coms 965 & 265 5 von © Do Sumws 9% 5 260 & Uon £ UeE wuws el 5 aun 20
238" % 12 HOlOW BOAMIS icc coi v siin 5 s 5 svive & s sesias swenis & s 5 evevs & s oocie s s & sviovs @ 4
2" x 8" x 12' Alum. Beam SUppomts . . . ... 4
2" X 8" Pergola Ends . . .. ... 8
2VAlUM. RafterBrackels: . iow con v siss 5 was o vvn ¢ il ¢ o 8 50638 5 9% 5 Hee ¢ i e s ved s o 40
Packs of 25 ~#8 % 1" SCrews [for Refer Brackes). .. « vsu vav o s s was 5 sie & wiesd @esa © v s aess s 7
11/2" Sq. x 13" Shade CoVers . .. ... e 9
11/2" Sq. Shade Cover Caps . . . ... e e e e e 18
Packs of 25 - #8 X 2" SCrews NorShade Covers). .-ax « oun v s oot & wan & 59 & 05 ©o & v85 & 0o 5 4

*Black kits substitute the Tapered Columns with 8" Straight Rd. Columns



8" x 16" Vinyl Pergola Kit

8' x 16' Pergola Kit consists of:

*8" x 90" Tapered Pergola Columns . . ... ... .. e e 6
*8" Rd. Tapered Column Trim Sets . . .. ... e e 6
*8" Rd. Column Beam Mount Assemblies. . ... ...ttt i it et e 6
*8" Rd. Teperad COlumin MOUNE: « « ses s v s v 5 s 5 el s 00E5 § 50 & Habe & £05% § e 8 2 6
2" 5% 6" X8 HOlIOWRARGIS : : cvun s ansi 5 sumin 5 wmas & s © s eis & wini/s @ 5w © 525 § D% # @eid o 13
20:%:8" x 8 Alum. RafMerSUPPOIIS . «cx « v s wnmin & wame & wasin & e @ & s & S & @96 s « e @ 13
2" X 6" Pergola ENds . . ... .. e 26
2"X 8" X 16" HOllow Beams . . . ... e 4
2" x 8" x 16" Alum. Beam SUPPOMS . . . ..o e e 4
2" XA PordDla ENAS . « c5i s soms v ois s caai s snan 5 o5 5 e & 5ees 5 AN 5 DoeE § s 5 e i g 8
2" Alim;: RaNeTBrackels .. « cons s sws 5 5omm @ ownn 5 s 5 waiein 5 595 2 s 5 9aals 5 5ee s 2 Lo s 52
Packs of 25 - #8 X 1" ScreWs (for Rafter BRAoKDIS). « i « « s 5 sunens ¢ svvi s o srdm o simi § o965 i & i o 3 9
1:1/2" 8q. % " Shade COVOIS . ¢ sue 5 o viems = simne o s x swss 5 smese = sd5 5 sae 5 gens o & 2w o 18
11/2" Sq. Shade Cover Caps . . . ..ottt e e e e 18
Packs of 25 - #8 x 2" Screws (for Shade COVEIS) . . . . v v v it et e et e et e ettt eee e 5

*Black kits substitute the Tapered Columns with 8" Straight Rd. Columns



8" x 20’ Vinyl Pergola Kit

8' x 20" Pergola Kit consists of:

*8" x 90" Tapered Pergola Columns . . ... ... . e 6
*8" Rd. Tapered Column Trim Sets . . ... .. e 6
*8" Rd. Column Beam Mount Assemblies. . . ... ... .. e 6
*8" Rd. Tapered Column Mount. . . .. ... e 6
2%%8" X'8' HOlloW RAREIS.: ¢ i 5 son & oo 5 o & oo 5 5 0505 & Swns & 0 & Sau § By & gae s 16
2%%6" x' 8 Alum. Raler QUPPOMS - ...: « coww o s & sas v s @ s s 5 560 5 6w § 6 s s 565 @ 16
278" Porgold BRds . . cus « same « wme w s smes x sme 5 ons s s s 6 e 5 men & S 6 G & e B 32
2"x 8" x 20" Hollow Beams . . . ... e 4
2" x 8" x 20" Alum. Beam SUPPOMS . . . ..o e e e 4
2" x 8" Pergola Ends . . .. ... .. 8
2" Al RaNET BRatKes . s sons o vasi 5 60550 & 05d § 5000 5 5900 5 P £ 5090 5 B9 5 Hared & e 8 64
Packs of 25 - #8 x 1" Screws (forRafter Brackets). . . . . . . . . o i in i et e i ee e annesnans 11
1:412" 8. 5% 11" Shatde COVBIS: .« & swn v v swm o v s & sem & s & s @ e & 6 aas 8 S @ & S 5 18
1-42" Bn. Bharle EOVerlaRE v » arw = sums » awms = Sam & S & w=ms & #a0 # FENRE % PSS 2 S § 18
Packs of 25 - #8 x 2" Screws (for Shade COVErs) . . . ...ttt e 6

*Black kits substitute the Tapered Columns with 8" Straight Rd. Columns



10' x 10’ Vinyl Pergola Kit

10" x 10" Pergola Kit consists of:

*8" x 90" Tapered Pergola Columns . . . ... ... 4
*8"Rd. Tapered Column Trim Sets . . . ... ...ttt ettt 4
*8" Rd..Column Beam MountASSEmbBlIES:. c.ou s v & s v o s & aiss s sne @ e s o sissd & sass 4
*8" Rd. Tapered Column Mount. . . . ... e 4
2"x6"x 10" Hollow Rafters . . .. ... .. 9
20 BT Al RENST SUDDOMS: 5 so 5 von 5 v 5 vos £90.5 265 § 208 5 595 & 5ol £90.5 965 & ves 9
2% 6" Pergola BIAS : < s o v wivns smvn » wish 5 omsa ¢ oo Geone sk § S B EE § BE0E S e 3 B 18
2" x 8" X 10" Hollow BEamS . . . . . ... e 4
2" x 8" x 10" Alum. Beam SUPPOMS . . . . ... 4
2B PEIGOIAENIR: & o v s cuns 5o & 6S £ 505 5 SOE CERE TEN § YOS & 595 § SOl REE SR 5 e 8
2" Alum. Rafler Brackets ... « oo oo s vun 5 sis 5 so o wnes ise & s & sise 5 6add & s @.65e% s % B0 36
Packs of 25 - #8 x 1" Screws (for Rafter Brackets). . . . . .. oo e 6
11/2" SQ. X 11'Shade COVerS. . . . ..ottt e e e e e e e 11
142" S S Ha0e COVErCaEE -5 cun 5 555 § w05 & 106 & 605 S00.5 565 5 2o & 505 & 505 £90.5 285 § i 22
Packs:of 28 ~#8 % 2" SCraWs (for SHatoiCOVBIE) « i & wan vave v wivk & s © wwta & s v & S8 @ B 4

*Black kits substitute the Tapered Columns with 8" Straight Rd. Columns



10" x 12° Vinyl Pergola Kit

10" x 12' Pergola Kit consists of:

78 % 80" Tapered Pergola/COlUmMNG: .o « o o s o v s s soi & o 5 e & wbie e som 5 w57 o 4
*8" Rd. Tapered Column Trim Sets . . ... ... .. e 4
*8" Rd. Column Beam Mount Assemblies. . . ............ .. . i, 4
8" R Taperad Coltmn MOUNE .o s w5 sies 5 sai ¢ sins g sven 5 5l & sols & sa Sass wes 5 il & 4
2007 10 MOl BREHEES o s & s 5 ooum & aRm weams e 2 S5 © R § GOR ERAES RS R SE 10
2" x 6" x 10" Alum. Rafter SUppors . . ... ... e 10
2" X B " Pargola ENS . . . . . oo coes s s rie o miois o sini m sims i 8 ke & mies s s e e e 8 R 20
238X 12 HOlIOW BOAMS & ¢sis s s 5 e 5 svoli & s w0 Dad 5 sles 5 5ol & vl 0098 Dad 5 wes s 4
2% 8Nx 12.AIM .- Beam SUPPOIE & cus & i & siew & anis weres e 5 557 % 50ein & 65 ©ae @i 5 05 & 4
2" X 8" Pergola ENds . . ... ... e 8
2" Alum. Rafter Brackets . . . ... ... .. 40
Packs of 25 - #8 X 1" SCrews (for Rafter Brackets). . . . .« oo v v v evs ettt e it anaeanennenns 7
1 H2"Sq: X1 ShAdECOVEIS: v 5 svis v wom » sios & i wonn % ois & S675 5 SO & B CHFS EHE 3 S8 11
11/2" Sq. Shade Cover Caps . . . ..ttt e e 22
Packs of 25 - #8 x 2" Screws (for Shade CoVers) . . .. ... ...ttt et et e e e e 5

*Black kits substitute the Tapered Columns with 8" Straight Rd. Columns



10° x 16" Vinyl Pergola Kit

g N

10" x 16' Pergola Kit consists of:

78 % 80" Tapered Pergola/COlUmMNG: .o « o o s o v s s soi & o 5 e & wbie e som 5 w57 o
*8" Rd. Tapered Column Trim Sets . . ... ... e
*8" Rd. Column Beam Mount Assemblies. . . ............ .. . i,
87 Rel. Tapered COltmin MOUNE: s s w5 vies & a9 & sn@ 5ams wws 5 5s § 50l § 56 0353 W6 5 LS 8
2% 6% 10" HONOW BRBIBES .« cams s 5 o & s & anis woms s @ 6575 6 05 § G908 S@5 R 8 9806
2" x 6" x 10" Alum. Rafter SUpports . . .. ... e

2" X B " Pargola ENS . . . . . oo coe s cvie s rie o miois o sin 5 sims e 8 ke s mies s s e e e 8 R 26

278" % 16" HollW BEEMS ouw s wes 5 s § s § st a0 Sas 5 58 ¥ suld § G626 098 Has § wes o
2% 8Vx 16" AIM .- Beam SUPPOIE 5 cus 5 sum & siew & ais weres e 5 557 % 5rein & i ©ae @ 5 05 &
2" X 8" Pergola ENds . . .. ... e

2" Alum. Rafter Brackets . . . . . .. .. 52

Packs of 25 - #8 X 1" SCrews (for Rafter Brackets). . . . .« oo v v v evs ettt e it anaeanennenns

1 H2"Sq X9 ' ShatB COVEIS: & v 5 sois » wom o sios & i oo % 6 & 67 5 SO 5 8 EHFS EHE 3 S8 22
11/2" Sq. Shade Cover Caps . . . ..o e e e 22

Packs of 25 - #8 x 2" Screws (for Shade COVErs) . . . . . ... u it e e et e
*Black kits substitute the Tapered Columns with 8" Straight Rd. Columns



10' x 20 Vinyl Pergola Kit

10" x 20' Pergola Kit consists of:

*8" x 90" Tapered Pergola Columing . .. cows san 5 vos o s s san ¢ wos sim « wos o eon 8 s & e 6
*8" Rd. Tapered Column Trim Sets . . . . ... e e 6
*8" Rd. Column Beam Mount Assemblies . . . .......... .. . . . . 6
*8" Rd. Tapered Columin NIOUNT: sui s ses sven wes s aes & 508 § nel ¢ 988 SEs 8 568 5 508 § 6a% & 2% 6
2 G0 MolowW RaROIS wvu o van & wom & nmwn wwsis 2o @ ws ¥ EwE & RG0S o SRE @ SO B SWE s 16
2" x 6" x 10" Alum. Rafter SUPPOMts . . . . ... ... 16
2T X B PErOOIA ENTS . .0 5 nsir o v & v £ 60 hs & mosis & 28ir & siv § 6s Fos & Rodas & mdan & B £ 5 32
2" % 8" % 20 HOlOW BOEIMB ;i s svas & svm o ionn s 8 5l ¥ e 8 o & €505 $is 8 e ¥ s § aom & 835 4
2" x 8'x 20" Alum.. Beam SUPPOMS . « s ¢ was sam o wos o cmn s s & s svane o oo & @ 8 £ & aes 4
2" X 8" Pergola ENds . . . ... 8
2" Alum. Rafter Brackets . . . . ... ... . 64
Packs of 25 - #8 x 1" Screws (for Rafter Brackets). . . . . . ..o oot e 11
1 112" 5. % V1" ShadeCONES: « con & sun weaes w5 won & s o o0m & s B s o6 § WO ¥ @ 8 22
11/2" Sq. Shade Cover Caps . . ... e e e e 22
Packs of 25 - #8 x 2" Screws (for Shade COVErs) . . . .. ... u ittt e et e e e e 8

*Black kits substitute the Tapered Columns with 8" Straight Rd. Columns



12° x 12° Vinyl Pergola Kit

12' x 12' Pergola Kit consists of:

78" x 90" Tapered Pergola/COolUmnG: cou « o o wes o s samn % soim & o7 5 s & wbie e sin 2 0 o 4
*8" Rd. Tapered Column Trim Sets . . . . ... ... 4
*8" Rd. Column Beam Mount Assemblies. . . ... . i 4
*8" Rd. Tapered Columin MOUNE: o s wws & vios ¢ s ¢ sws wame s aon 5 il § sid 8 st &5 weid 5 e o 4
27%87" X 12! HONOW BRBIBES 1. voms s 5 somm 5 s & s wwms som 2 557 6 05 § G9E S@es RS 2 o6 10
2" x 6" x 12" Alum. Rafter Supports . . . ... ... e 10
2" X B " PEIgOIA ENAS . ... . o o ccm s v 5 riss & siois o s 5 sume moos 3 ks & st s & s e s 8 s 20
2B % 12! HOlIOW BOAMS &y wcos s s 5 e 5 svoli & s &% Dais 5 5ies 5 5ol & el 0098 Das 5 wes s 4
2% 8 X 12 Alm .- Beam SUPPOIS 5 cuu 5 sum & siow & wis weres sows § 557 % 0ein @ 65 ©ae @i 2 06 & 4
2" X 8" Pergola ENds . . .. ... 8
2" Alum. Rafter Brackets . . . ... ... e 40
Packs of 25 - #8 X 1" SCrews (for Raftor Brackets). . . . .« v v v v ittt et iennnnnnnansnss 7
1 W27 Sq: X1 ShAdECOVEIS: crv 5 snis » wom » sios & i wonn % wmis % S675 § SO & B CHBS EHE ¥ 07 13
11/2" Sq. Shade Cover Caps . . . .ottt e e 26
Packs of 25 - #8 x 2" Screws (for Shade COVErS) . . . . . .. v u e et e e e e e et e e e e e 6

*Black kits substitute the Tapered Columns with 8" Straight Rd. Columns




12' x 16" Vinyl Pergola Kit

—_— —— PJ"‘_}

12' x 16' Pergola Kit consists of:

*8" x 90" Tapered Pergola Columns . . . ... ... 6
*8" Rd. Tapered Column Trim Sets . . . ... ... .. e e 6
*8" Rd. Column Beam Mount Assemblies. . .. ... ... . i, 6
8 R Tapered Column NIOMNL: cuw « s saen wen v som & aen o meom o560 GE B 508 & G005 § SR ¢ s 6
2"x6"x 12" Hollow Rafters . . . .. ... . 13
2" x 6" x 12' Alum. Rafter SUpports . . . ... ... 13
2" X 6" POTObla EOHS: con 5 nvs ¢ oo ¢ 0% L0005 SO0 5 555 § N0F B R ¥ O0E G505 565 % U0E B 59E ¥ 5 26
2% B*%18! HoOlloW BBEIME coa « wvsi & vva & suncs v % s @ svse 5 i & s eavd & 608 @ @69 5 5an @ v 4
2" x 8" x 16' Alum. Beam SUpports . . .. ..ot 4
2" X 8" Pergola ENds . . . .. ... 8
2" Aloii: Rafter Brackets': : ou: ¢ sov 5 sas & o505 con 5 96 & 599 5 405 5 995 €96 5 2% 5 297 § 05 & 53 52
Packs of 25 ~#8 x 1" SCrews (for Rafter BRACKSIS): «« « s s s & s o svas s 3 svva & seid 8 s & evies 9
11/2" Sq. X 9" Shade CoVers .. ... e e 26
11/2" Sg. Shade Cover Caps . . . ...ttt e 26
Packs of 25 - #8 x 2" Screws (for Shade COVErS) . . . . ..o v i ittt ettt e e 7

*Black kits substitute the Tapered Columns with 8" Straight Rd. Columns



12" x 20" Vinyl Pergola Kit

=] | = ="
. ? . l .
12" x 20' Pergola Kit consists of:
*8" x 90" Tapered Pergola Columing . .. cows san 5 vos o s s san ¢ wos sim « wos o eon 8 s & e 6
*8" Rd. Tapered Column Trim Sets . . ... ... e 6
*8" Rd. Column Beam Mount Assemblies. . . ... 6
*8" Rd. Tapered Column MOUNL: ...« s s v vas waia s aion s s 5 aws o es £ s ole 5 598 6 aam o 50 6
2B Hollonw BRESS con « cus & mem « wmn s o @ s w e e @ e S8 @ WA B W s 16
2"x 6" x 12' Alum. Rafter SUPpOmts . . . . ... .. 16
2T X B PErOOIA ENTS . .0 5 nsir o v & v £ 60 hs & mosis & 28ir & siv § 6s Fos & Rodas & mdan & B £ 5 32
2" % 8" % 20 HOlOW BOEIMB ;i s svas & svm o ionn s 8 5l ¥ e 8 o & €505 $is 8 e ¥ s § aom & 835 4
2" x 8" x 20.Alum.. Beam SUPPOMB .« s cus « wiom swan o won & cms s s o e sam @ 2o & Sam § @8 s 4
2" X 8" Pergola ENds . . . ... 8
2" Alum. Rafter Brackets . . . . ... ... . 64
Packs of 25 - #8 x 1" Screws (for Rafter Brackets). . . . . . ..o oot e 11
1 112" 5. % V1" ShadeCONES: « con & sun weaes w5 won & s o o0m & s B s o6 § WO ¥ @ 8 26
11/2" Sq. Shade Cover Caps . . ... e e e e 26
Packs of 25 - #8 x 2" Screws (for Shade COVErs) . . . .. ... u ittt e et e e e e 9

*Black kits substitute the Tapered Columns with 8" Straight Rd. Columns




16" x 16" Vinyl Pergola Kit

= f N P‘_l:‘_%
' ey |
16' x 16' Pergola Kit consists of:
*8" x 90" Tapered Pergola Columns . .. ... ... 6
*8" Rd. Tapered Column Trim Sets . . . . ... e 6
*8" Rd. Column Beam Mount Assemblies . . . ............ .. . 6
*8" Rd. Tapered Colurm MOURE. oo s aom o w5 s o von ces s aom 5 woss s 655 8 e oo D sk 5 Wik 6
2"x6"x 16" Hollow Rafters . . . ... .. 13
2" x 6" x 16" Alum. Rafter SUPpPOrS . . .. ... .. 13
2B PETIOISENTS: : con v son vois 65 5 V6 & 595 7 B9 SRS TAN 5 UOS & UO% § ReN WS VEG 5 R 26
2P 8 16 M IOWEBEEETS i e s sim © s o oavs S Sisns SR B WE © S § RS SRS G S 4
2" x 8" x 16" Alum. Beam SUPPOIS . . ... ..o 4
2" x 8" Pergola ENds . . ... ... 8
2rAlom.. Rafler BragKets .« o sus o s san s vas & 595 & poll 0855 588 5 905 & 595 ¥ il L van 5 a6 52
Packs of 25 ~#8 % 1" SCrews (for Rafer BRCKSIE): i s sus v v sovi @ suen & wta & s Sdva % s @ aess 9
11/2" Sq. X 9" Shade CoVErs ... ... e 34
11/2" Sq. Shade Cover Caps . . . . ..o e e 34
Packs of 25 - #8 x 2" Screws (for Shade COVers) . . ... ...ttt a s 9

*Black kits substitute the Tapered Columns with 8" Straight Rd. Columns



16" x 20" Vinyl Pergola Kit

I = — < "
; B F_h
16' x 20' Pergola Kit consists of:
*8" x 90" Tapered Pergola Columing . .. cows san 5 vos o s s san ¢ wos sim « wos o eon 8 s & e 6
*8" Rd. Tapered Column Trim Sets . . ... ... e 6
*8" Rd. Column Beam Mount Assemblies. . . ... 6
*8" Rd. Tapered Column MOUNL: ...« s s v vas waia s aion s s 5 aws o es £ s ole 5 598 6 aam o 50 6
2B 28! Hollonw BRESS con « cus 5 mem «wmn s o @ s s e e @ e S8 @ SR B W s 16
2" x 6" x 16' Alum. Rafter SUppOmts . . . . ... ... 16
2T X B PErOOIA ENTS . .0 5 nsir o v & v £ 60 hs & mosis & 28ir & siv § 6s Fos & Rodas & mdan & B £ 5 32
27 % 8" % 20" HOlIOW BEEMS ici 5 s 5 s s vwn vus 5 siea § 5@ § s £ €05 ¥es 3 weh § 556 § 69 § o4 4
2" x 8" x 20.Alum.. Beam SUPPOMB .« s cus « wiom swan o won & cms s s o e sam @ 2o & Sam § @8 s 4
2" X 8" Pergola ENds . . . ... 8
2" Alum. Rafter Brackets . . . . ... ... . 64
Packs of 25 - #8 x 1" Screws (for Rafter Brackets). . . . . . ..o oot e 11
1 112" 5. % V1" ShadeCONES: « con & sun weaes w5 won & s o o0m & s B s o6 § WO ¥ @ 8 34
11/2" Sq. Shade Cover Caps . . ... e e e e 34
Packs of 25 - #8 x 2" Screws (for Shade COVErs) . . . ... ... it e et e 11

*Black kits substitute the Tapered Columns with 8" Straight Rd. Columns



12' x 12’ Vinyl Louvered Roof Pergola Kit

|

12' x 12' Louvered Roof Pergola Kit consists of:

78 % 80" Tapered Pergola/COlUmMNG: .o « o o s o v s s soi & o 5 e & wbie e som 5 w57 o 4
*8" Rd. Tapered Column Trim Sets . . ... ... e 4
*8" Rd. Column Beam Mount Assemblies. . . ............ .. . i, 4
*8" Rd. Tapered Colamn MOUNt. o & wui s sies o s o sws s s 5 vies o said 5 s &5 % wed s sies s 4
20007 12 HOl- EREHEES v s & s 5 ooum & oR eamS e R SET € R § G RAES RS R 10
2" x 6" x 12" Alum. Rafter SUpports . . .. ... 10
2" X B " Pargola ENS . . . . . oo coes s s rie o miois o sini m sims i 8 ke & mies s s e e e 8 R 20
238X 12 HOlIOW BOAMS & ¢sis s s 5 e 5 svoli & s w0 Dad 5 sles 5 5ol & vl 0098 Dad 5 wes s 4
2% 8Nx 12.AIM .- Beam SUPPOIE & cus & i & siew & anis weres e 5 557 % 50ein & 65 ©ae @i 5 05 & 4
2" X 8" Pergola ENds . . .. ... e 8
2" Alum. Rafter Brackets . . . ... ... .. 40
Packs of 25 - #8 X 1" SCrews (for Rafter Brackets). . . . .« v v v vvv it ittt e e nnnaannesnes 7
TR %3 k18 S Nae OIS v cam s s & woos 5 pEs & e K@% G B SHETE 5 AR ¥ G S N B 33
718" x 3" Shade Cover Caps . ... ..ottt 66
Packs of 25 - #8 x 1" Screws (for Shade Covers) . . .. ... ...ttt e e e n 4

*Black kits substitute the Tapered Columns with 8" Straight Rd. Columns



8" Tapered Column / Accessories

r__’_/u_— 96-1/8"

50"

ki

30"

- @7-3/4"

8" Tapered Column

5-5/8"

1

10-1/4"

N

50"

29-3/4"

7-3/8"

Column Mount

Trim Set




2" x 8" Hollow Rail / Accessories

8.000
2.000
= R.188
125 typ. wall
P
T 8.000
e
~~2.000
2" x 8" 2" Rafter #8 x 1" 2" x 8" 2" x 8" Wall

Pergola End Bracket Screw Rail Cap Mount Bracket



2" x 6" Hollow Rail / Accessories

6.000
2.000
| R.188
—.120 typ. wall
10000
1.250 i
|
' 2.031
5.865
5600 1:‘ % 6.000 H 6.000
i 4.250 |
2015 2000w 2.000 2000
2"x6" 2" Rafter #8x 1" 2" x 6" 2" x 6" Wall 2" x 6"

Pergola End Bracket Screw Rail Cap Mount Bracket Pergola Coupler



:2" x 6" Hollow Louvered Rail / Accessories:

6.000
2.000
| R.188
—.120 typ. wall
1-1/4"
Max Spacing
10.000
6.000 6.000H 6.000
2.015 sy 2»000
2"x 6" 2" Rafter #8x1" 2"x6" 2" x 6" Wall 2" x 6"

Pergola End Bracket Screw Rail Cap Mount Bracket Pergola Coupler



2" x 8" Aluminum Beam Support

R1/4™




1 1/2" Sq. Pergola Shade Cover

~—1.500 —=
' -
—i=.060 typ. wall
A
~—R.188
11/2" Sq. 11/2" Sq. #8x 2"
Shade Cover Shade Cover Cap Screw
~.1.188
1528 e

22500
11/2" Sq.
Pergola Coupler

5/8" Hole Plug



All material copyright of Superior Plastic Products, Inc.,
Hoover Fence Company - www.hooverfence.com



